
 

Exercise 8B Ho yes 50 I Sig level1 X N µ 32 H i µ 50

I N 50 51
a P I 251.56 0.01 critical region

I 251.56

b P Type I error 0.01

c T N 53 of
P T 51.56 i 0.0159

P Type I error 0.0159

2 X N µ 2 Ho p 30
Hi in so

5 Iglevel

a In N 30,4 5 N so 5

P I 29.18 i 5

Critical Regio I C 29.18

b P Type 1 Error 5

c T N 28.5 5
P T 29 18 0.0869 P type error

Quality of Tests - Normal



3 X nfn.ci x nf4ofEIYXN 40 o 82

Ho µ 40

H µ 1 40
I Sig level

P I s 37.94 o 005

P I 42.06 o 005

critical Regio 37.94 C I 42 06

b P Type I error I

c 4 N 42 o E

P 37.94 4 s 42.06 O 5299 P Tyre error


